Title: Antioch Rivertown Gateway Sign Antioch, CA (P.W. 679-2) Bids to be received by 2:00 pm March 1, 2022 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Pr	ice	Extended Amount
1.	LS	1	Mobilization/Fencing/Restroom, complete in place for the lump sum price	98	\$00	9800
2.	EA	2	Demo/Brick Pavement Removal, complete in place for the unit price per each	\$ 210	0 \$	4200
3.	EA °	2	Excavate Foundation Hole, complete in place for the unit price per each	\$ 2300	\$	4600
4.	EA	2	Rebar Cage/Sign Post/Concrete Fill, complete in place for the unit price per each	3200	\$	6400
5.	SF	80	Concrete Base w/ Brick Veneer, complete in place for the unit price per square foot	162 \$	\$	12960
6.	SF	40	Brick Pavement Patching, complete in place for the unit price per square foot	130	\$	5200
7.	LS	1	Electrical Hookup, complete in place for the lump sum price	\$ 1	\$	4500
8.	LS *	1	Sign Fabrication, complete in place for the lump sum price	\$ 1	\$	143,000
9.	LS	includes pi	roject management items for turn key solution Traffic Control and Pedestrian Safety, complete in place for the lump sum price	1	\$	9000
10.	LS	1	Sign Delivery/Installation, complete in place for the lump sum price	1	\$	35,600

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
11.	EΑ	1	Site Cleanup, complete in place for the unit price per each	\$ 2037.53 \$	2037.53
			TOTAL BID PRICE	\$ 237,297.53	ч

TOTAL BID PRICE:	Two hundred thirty seven thousand, two hundred ninety seven dollars and fifty thre	e cents
	(Written in Words)	

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Carlos Ponce
Signature of Bidder
Corporate Sign Systems
Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.		-	,	
2.	8 "	£ .		7
3.				
4.		. 1		1
5.	(
6.		,		• ,
7.		,		
8.	<i>y</i>			×
9.			, j	<i>(</i>
10.				
11.	,		ů.	r e
12.	-	*	-	y .
13.		-	\	
14.				,
15.				

END LIST OF SUBCONTRACTORS

Title: Antioch Rivertown Gateway Sign Antioch, CA (P.W. 679-2) Bids to be received by 2:00 pm March 1, 2022 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	1	Mobilization/Fencing/Restroom, complete in place for the lump sum price	\$ 9	4982.09
2.	EA	2	Demo/Brick Pavement Removal, complete in place for the unit price per each	\$ 3,575,68	7,071.35
3.	EA	2	Excavate Foundation Hole, complete in place for the unit price per each	\$ 16,262.11	32,524.20
4.	EA	2	Rebar Cage/Sign Post/Concrete Fill, complete in place for the unit price per each	\$ 18,753.55 _{\$}	37,507.10
5.	SF	80	Concrete Base w/ Brick Veneer, complete in place for the unit price per square foot	\$136.61 \$	10,920.45
6.	SF	40	Brick Pavement Patching, complete in place for the unit price per square foot	\$136.61 \$	5,464.23
7.	LS	1	Electrical Hookup, complete in place for the lump sum price	\$ \$	3714.25
8.	LS	1	Sign Fabrication, complete in place for the lump sum price	\$ \$	85,107,89
9.	LS	1	Traffic Control and Pedestrian Safety, complete in place for the lump sum price	\$ \$	44,999,50
10.	LS	1	Sign Delivery/Installation, complete in place for the lump sum price	\$ \$	15658.91

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
11.	EA	1	Site Cleanup, complete in place for the unit price per each	 \$	\$ 7067.72

TOTAL BID PRICE \$ 250,547.70

TOTAL BID PRICE: Tいし \	LANDERD FIFTY THE	FULLSAWO FIVE	HUNDRED	
	itten in Words)	FOURTY SFEW	(Real Mus).	70 7
All costs associated with the w	ork required in the Plans and	Specifications must be	included in	100
the bid items. This certifies that and Specifications necessary to			n the Plans	W
	complete the work, in place a	ind in fall working order.	memor	DAGT
			MCCOMIC	

Signature of Bidder

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

			T	T
NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1 LK HUNT CONSTRUCTION	94578		CONCORD CA	30%
2.			* ·	
3.				
4.				-
5.		~	п	
6.				
7.		×		
8.				_ *
9.				
10.		4		
11.				
12.				
13.				
14.				
15.		• a		

END LIST OF SUBCONTRACTORS

Title: Antioch Rivertown Gateway Sign Antioch, CA (P.W. 679-2)

Bids to be received by 2:00 pm March 1, 2022 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Quantity	Description	Unit Price	Extended Amount
1.	LS	. 1	Mobilization/Fencing/Restroom, complete in place for the lump sum price	10,000 \$	10,000 \$
2.	EA	2	Demo/Brick Pavement Removal, complete in place for the unit price per each	\$ 15,000	\$ 30,000
3.	EA	2	Excavate Foundation Hole, complete in place for the unit price per each	7,500 \$	15,000 \$
4.	EA	2	Rebar Cage/Sign Post/Concrete Fill, complete in place for the unit price per each	\$ 15,000	\$ 30,000
5.	SF	80	Concrete Base w/ Brick Veneer, complete in place for the unit price per square foot	375	\$ 30,000
6.	SF	40	Brick Pavement Patching, complete in place for the unit price per square foot	375 \$	\$ 15,000
7.	LS	1	Electrical Hookup, complete in place for the lump sum price	\$ 20,000	\$ 20,000
8.	LS	1	Sign Fabrication, complete in place for the lump sum price	\$ 95,000	\$ 95,000
9.	LS	1	Traffic Control and Pedestrian Safety, complete in place for the lump sum price	\$ 15,000	\$ 15,000
10.	LS	1	Sign Delivery/Installation, complete in place for the lump sum price	\$ 50,000	\$ 50,000

ltem No.	Unit	Quantity	Description	Unit Price	Extended Amount
11.	EA	1	Site Cleanup, complete in place for the unit price per each	\$ 14,000	14,000
			TOTAL BID PRICE	\$ 324,000.00	

TOTAL BID PRICE:_	Three hundred twenty four thousand and 00/100	
	(Written in Words)	,

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Zara Construction

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1, Arrow Sign Company	314794	1000016389	1051 46th Ave, Oakland, CA 94601	Sign fabrication; 30%
2. Brady Electric	777330	1000018587	Elk Grove, CA 95758	Electrical; 10%
3.			. , , , , , , , , , , , , , , , , , , ,	
4.				
5.	,		,	
6.				-
7.				
8.				i .
9.		,		
10.			****	,
11.				,
12.				
13.	ı,			
14.				,
15.				

END LIST OF SUBCONTRACTORS